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Unfortunately, the complex number expressions you will derive are not
generally in the form

%

/Z = a+1ib

The general case for you is the form
oo ct id
e+if
Finding the amplitude of this ratio of complex numbers is easy. It's just
c’+d?
e’ + f?

Finding the phase lag is more difficult, since we first need to convert the
expression into the form

*

Z=\|Z

*

/Z = a+ib
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To do this, we multiply both humerator and denominator by the
complex conjugate of the denominator. That is,

* m — 1
c + &xm if

N - 3 3
e+if e—-if
‘ ) ce+d .[ de-c

Z =a+ib=|— \M +i| — \N

e+ f e+ f

- ce+df - de-cf
NN:T.\,N NN.._...\WN

The phase angle is then given by o = tan | — | as before.

a
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So for our problem...
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Same as before!!
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